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1 Introduction
In the current specification, an SCell configured to a UE is identified by sCellIndex. The eNB allocates one sCellIndex among [1,7] to one SCell configured to a UE and uses the allocated sCellIndex for SCell addition/removal and SCell configuration modification. 
In dual connectivity, as the UE is connected to two different eNBs, the SCells in MCG and SCG may have the same sCellIndex unless there is an interaction between the eNBs. Then, it is questionable how the UE identifies the SCell. 
In this contribution, we discuss how to manage sCellIndex in order for the UE with dual connectivity to identify the SCells.

2 Discussion
When a UE has multiple SCells, SCell addition/removal or SCell configuration modification is applied to each SCell. For this, the eNB indicates a specific SCell to which SCell addition/removal or SCell configuration modification is applied and the UE should be able to identify the SCell configured to the UE. This implies that the SCell configured to a UE should have a unique identification within a UE.

In dual connectivity, there can be two approaches in sCellIndex allocation: sCellIndex per MAC entity and sCellIndex per UE.
In “sCellIndex per MAC entity”, when the eNBs allocate sCellIndex to the SCell, each eNB allocate sCellIndex according to its own policy as in the current behaviour. Then, the SCell in the MCG and the SCell in the SCG may have the same sCellIndex. In this case, the UE cannot distinguish the SCell in the MCG and the SCell in the SCG unless additional information of the SCell, e.g., to which Cell Group the SCell is belonging to, is provided along with the sCellIndex. 
Alternatively, in “sCellIndex per UE”, the MeNB and the SeNB may interact with each other in order to coordinate sCellIndex allocation so that sCellIndex is not overlapped between the SCell in the MCG and the SCell in the SCG. For example, the SCells in the MCG are allocated sCellIndex among [1,3] and the SCells in the SCG are allocated sCellIndex among [4,7]. This approach will limit the total number of SCells configured to the UE to 7, but total 7 SCells seems sufficient considering the UE’s power limitation and the usage of small cells. 
Proposal 1: The sCellIndex is uniquely allocated to the SCells configured to the UE by coordination of sCellIndex allocation between the MeNB and the SeNB. 
3 Conclusions
In this contribution, we discussed how to identify the SCells configured to the UE and propose the following:
Proposal 1: The sCellIndex is uniquely allocated to the SCells configured to the UE by coordination of sCellIndex allocation between the MeNB and the SeNB. 
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